| V. ¥ A

ELL

August 30, 2019

ECL-230D / ECL-230D-PH Parts List

PARTS BREAKDOWN
Item g::te; Description List Price
1KIT | ECL-243PH [Mechanism Assembly (includes 1a-1f & 2kit) $ 125.00
1a | ECL-1576-15 | Cam Bridge Assembly $ 15.00
1b | ECL-285A Cam Plate Bottom $ 4.00
1c | ECL-306-1 Bolt Assembly $ 26.00
1d | ECL-284 Detent Spring $ 2.00
1e | ECL-293A Detent Lever & Roller Assembly $ 6.00
1f ECL-1576-20 | Actuator & Release Lever Kit $ 19.00
2KIT | 1000691 Siren Switch Assembly (includes 2a-2d) $  45.00
2a | ECL-204-1 Switch Assembly $ 15.00
2b | 100331 9V Battery Connector $ 2.00
2c | PP-5966-1 Siren $ 10.00
2d | 101796 Holder-Switch Actuator Replacement kit $ 13.00
3 ECL-354AR |Backplate $ 16.00
4 | PP-5090-1 Retaining Ring $ 0.12
5 ECL-236 Bar Pin $ 1.00
6 ECL-332 Paddle Bar, Short $ 23.00
ECL-2105 Paddle Bar, Long $  41.00
7 ECL-419 Bar Shield $ 0.45
8 ECL-8220 Paddle Bar Plate, Short (2 hole) $ 18.00
ECL-2109 Paddle Bar Plate, Long (3 hole) $ 25.00
9 | ECL-355 Cover $ 55.00
10KIT| PP-5572 Lockset with 2 Keys (includes 10a) (select key number 11 thru 20) [ $ 9.00
10a | ECL-405 Key (select key number 11 thru 20) $ 2.00
10b |ECL-405-KIT |Set of all keys (includes key numbers 11 thru 20) $ 15.00
Your particular part or configuration
may not be shown:
Contact Detex technical support
at 800-729-3839 (option 2)
|




| V. ¥ A

ELL

August 30, 2019

@\xj

ECL-600 Parts List

PARTS BREAKDOWN

Item g;fte;; Description List Price
1KIT | 100059 Mechanism Assembly (includes 1a-1f & 2kit) $ 363.00
1a | ECL-1576-15| Cam Bridge Assembly $ 15.00
1b | ECL-285A Cam Plate Bottom $  4.00
1c | ECL-306-1 Bolt Assembly $ 26.00
1d | ECL-284 Detent Spring $ 2.00
1le | ECL-293A Detent Lever & Roller Assembly $ 6.00
1f 100062 Actuator & Release Lever Kit $ 49.00
19 100060 Relatch Assembly $ 121.00
2KIT | 100069 Siren Switch Assembly (includes 2a-2d) $ 36.00
2a ECL-204 Switch Assembly $ 11.00
2b | 100331 9V Battery Connector $ 2.00
2c | PP-5966-1 Siren $ 10.00
2d | 101796 Holder-Switch Actuator Replacement kit $ 13.00
3 100098 Backplate $ 16.00
4 | PP-5090-1 |Retaining Ring $ 012
5 ECL-236 Bar Pin $ 1.00
6 ECL-2105 Paddle Bar, Long $ 41.00
7 ECL-419 Bar Shield $ 0.45
8 ECL-2109 Paddle Bar Plate, Long $ 25.00
9 100065 Cover $ 73.00
10KIT| PP-5572 Lockset with 2 Keys (includes 10a) (select key number 11 thru 20) | $ 9.00
10a | ECL-405 Key (select key number 11 thru 20) $ 2.00
10b |ECL-405-KIT |Set of all keys (includes key numbers 11 thru 20) $ 15.00
Your particular part or configuration may not be shown:
Contact Detex technical support at 800-729-3839 (option 2)
|
I




P

o2\]

—_—,
= AU
53y et

ECL-230X Parts List

August 30, 2019

Item g;:te; Description List Price
S&R ECL-230X core assy, single point
105431-1  |includes items 1A-1H) $ 71500
S&R ECL-230X core assy, TDB, TD
105431-2  |(includes items 1A-1H) $ 775.00
S&R ECL-230X core assy, H
AKIT 105431-3 (includes items 1A-1H) $ 1,085.00
R ECL-230X core assy, TDB, H
105431-4 grf‘cludgs o At Ha) ne $ 117500
S&R ECL-230X core assy, 30" single point
105431-5 (includes items 1A-1H) $ 710.00
S&R ECL-230X core assy, 30" TDB
1054316 | i ciudes items 1A-1H) ’ $ 77500
1A |103699-104 |Screw 8-32 x 1/4 cone $ 0.25
1B | 103629 IKC cylinder housing $ 7.00
1c 103650-1 Siren bracket assy $ 101.00
103650-2 Siren bracket assy, weatherized $ 141.00
PP-5377-106 | Screw 8-32 x 3/8 FH $ 0.15
1D 101950-505 |Screw 8-32 x 5/16 FH, weatherized $ 4.00
1E | 103641-1 Endcap cover $ 6.00
1F 1103625 Endcap bracket $ 9.00
16 103647-1 Pushpad sign, 230X, english, red, std $ 19.00
103647-13 | Pushpad sign, 230X, english, red, 30" $ 14.00
105432-1 S&R, ECL-230X Internal Pushpad Assy, single point | $ 559.00
1H 105432-2 S&R, ECL-230X Internal Pushpad Assy, TDB/TD $  629.00
105432-3 S&R, ECL-230X Internal Pushpad Assy, H $ 731.00
105432-4 S&R, ECL-230X Internal Pushpad Assy, TDB, H $ 1,098.00
2 1103632 Back-plate $ 13.00
3 103643 Lockbody main template $ 7.00
4 1103687 Top & Bottom latch template $ 3.00
S5KIT 103693-1 Top bolt assy, standard (includes items 5A-5G)| $ 160.00
103693-2 Top bolt assy, weatherized (includes items 5A-5G)| $ 160.00
5A [103691 Top bolt bracket $ 42.00
5B (103533 Bolt pin $ 4.00
5C 103639 Top bolt $ 79.00
5D |103551 Bolt clip $ 5.00
5E |103652-1 Top/bottom cover $ 8.00
5F 100156-104 |Screw 8-32 x 1/4 FH $ 0.15
101950-505 |Screw 8-32 x 5/16 FH, weatherized $ 4.00
5G |103634 Top strike $ 20.00

Item g::te; Description List Price
103674 Top rod (84") $ 55.00
6 |103073-2 Top rod assy (96") $ 199.00
103073-3 Top rod assy (120") $ 236.00
7 1103544 Bottom rod $ 40.00
105435-1 Cover assy, TDB/TD $ 79.00
105435-2 Cover assy, single point $ 103.00
8 105435-3 Cover assy, TDB/TD, weatherized $ 99.00
105435-4 Cover assy, single point, weatherized $ 139.00
105435-5 Cover assy, TDB/TD, hurricane $ 114.00
105435-6 Cover assy, single point, hurricane $ 114.00
9KIT | PP-5572 Lockset w/2 keys (includes 9A) (select key number 11-20f $  9.00
9A | ECL-405 Key (select key number 11-20 2.00
1OKIT 103692-1 Bottom bolt assy (includes items 10A-10G) $ 92.00
103692-2 Bottom bolt assy, weatherized (includes items 10A-10G) $ 92.00
10A [103555 Bottom bolt bracket subassy $ 42.00
10B | 103533 Bolt pin $  4.00
10C | 103536-1 Bottom bolt $ 17.00
10D |[103551 Bolt clip $ 5.00
10E |103652-1 Top/bottom cover $ 8.00
10F 100156-104 [Screw 8-32 x 1/4 FH $ 015
101950-505 |Screw 8-32 x 5/16 FH, weatherized $ 4.00
10G | 103546 Bottom strike plate $ 14.00
103660 Strike kit, standard (includes item 15A)| $ 45.00
15KIT 103660-1 Strike kit, high strength (includes item 15A)| $ 80.00
15A | 103614 Strike $ 49.00
Hardware kit, single point (not shown)
103640 (includes items 20A-20C) $ 41.00
Hardware kit, three point, std & hurricane (not shown
103640-4 (includes items 20A-20C) $ 49.00
Hardware kit, single point, hurricane (not shown
20KIT| 103640-6 (i:c?udaes items 2%A-200)' ( : $  49.00
Hardware kit, single point, weatherized (not shown
el o (includes items Z%A-FZ)OC) ( ) $ 4800
Hardware kit, three point, weatherized (not shown
103640-14 1 oludes items 20AE)2OC) ( " |'s oo
20A | PP-5567 9V Battery $ 6.00
20B | PP-5377-106| Screw, mach, 8-32 x 3/8" PFH $ 015
20C | 103645 Rod cover cap $ 44.00
104073-1 Rod guide kit one (not shown) (includes 25A) $ 9.00
25KIT| 104073-2 Rod guide kit two  (not shown) (includes 25A) $ 18.00
104073-3 Rod guide kit three (not shown) (includes 25A) $ 27.00
25A | 103534 Rod guide $  8.00




